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12PMC – pmc , PMS – pms 

y = C + S   ==> S = y – C 

y 
C 
S -40-30-20-100102530404550
PMC- 0.8 0.8 0.8 0.8 0.8 0.80.8 0.8 0.8 0.8 0.8 
pmc - 1.6 1.26 1.06 1 0.96 0.93 0.92 0.91 0.90 0.89 0.88 
PMS 0.2 02. 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 
Pms - 0.6 -0.02 -0.06 0 0.04 0.06 0.07 0.08 0.10 0.10 0.11 

3

 C = ca +   yd

     = PMC = 0.8

cayd = 200 , C = 200 

200 = ca + 0.8(200) ==> ca = 200 – 160 ==> ca = 40

C = 40 + 0.8yd 

SS = ca + (1 -   )yd 

     PMS = S = 1 -    = 0.8 ==> S = 0.20 

–ca

S = 0  , yd = 200 

   0 = -a + 0.2(200) ==> -a = -40 

  ==> S = -40 + 0.2yd 
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4 /C.S 
               C

                           

 

  S

S = 0   >   yd = C
    S = -40 + 0.2yd 

     0 = -40 + 0.2yd  40 = 0.2yd >  yd = 200
ydC = 40 + 02(200)  C = 200

0<     <1
pmcpmc < PMC



LMD20212022

2

C0

9.0

1Yc = 600 ; yt = 0

2Yc = 650   ;   yt = 30 

3Yc = 700   ; yt = -20 

4Yc = 800 ;  yt = 50 
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      C1 = 25 + 0.6yd1 

C2 = 52.5 + 0.6yd2

C3 = 75 + 0.6yd3

a

2

C  yd    
  

    
 

175259

367.55259.7

5257599.7

9.7

C =   yd + caca

ca = 0 

C2 = 0.7yd 

1CP = 540

2 CP = 558

3 CP = 648

4 CP = 675
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MD1Md3

yMD1iMd3

           
             
  
  MD1=2 y   MD3=50-220i 
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10.03 = iy022Md = 25 + 100 = 125

00.01 = iy50Md = 75 + 100 = 175 

33%022105

1%52175

4Md = 2y + 50 – 220i
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011

Md= 0.25yd + 80 – 300i

0LM

2LM6801

3

4LM

21

5LMLM0،56801

0.125Y011

6LM6801

C= 50 + 0.8YdI = 250 – 1500i

08901

21

28901

3IS
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ISLM

0LM

MS = 100 

Md = 0.25y + 80 – 300i 

Ms = Md 

100 = 0.25y + 80 – 300i 

LM0.25y = 20 + 300i ==> y = 80 + 300i      

2LM

y = 80 + 1200i 

==> y = 80 + 2400i 
10% 8% 6% i 

200 176 152 y = 80 + 1200i 

320 272 224 y = 80 + 2400i 

 
Ms = 100  /  Md3 = 80  600i 

Md = 0.25y + 80  600i

LM 
Ms = Md 

100 = 0.25y + 80  600i 
0.25y = 20 + 600i 
y = 80 + 2400i 

Md = 0.25y + 80  300i   Ms = 120 



LM
Ms = Md 

120 = 0.25y + 80  300i 
0.25y = 40 + 300i ==> y5 = 160 + 1200i 

i 
   

LM2    LM110%

10% 8% 6% i 
200176152y
280256232y5

                                8%        

 
6% 

y

Ms = 100   , Md = 0.125y 
LM 

Ms = Md  
100 = 0.125y + 80  300i ==> 0.125y = 20 + 300i 

y = 160 + 2400i 
10% 8% 6% i 
400352304y

 
 I = 250 – 1500i , C = 50 + 80yd  

0 /

I = S ==> 250 – 1500i = 02yd - 50  

 

yd = y     لا توجد ضرائب أو تحويلات 

 

250 – 1500i = 0.2y – 50 ==> 0.2y = 300 – 1500i 

y = 1500 – 7500i 

10% 9% 8% i 
750825900y1

S = I + G              G = 20 

0.2y -50 = 250 – 1500i + 20 

0.2y = 300 – 1500i + 20 

0.2y = 320 – 1500i ==> y = 1600 – 7500i 

 



i 
   

                  10%

10% 9% 8% i 
8509251000Y2

100100100y 
                                9%        

IS2 
8% 

            IS1               

y1000925900850826750 
 


